M 344 A19A

mARE K N E rzl

o 3 EE DNHETRSBEHES RIS S

INHIRT AR

/NIRRT RABOSEENE O ICB T 5 5158 8 LD MEICEIE, RO LB
AR 3 FEBBIEEE OIS ME VT LI T,

1 X A BUBIEENE 780,000
2 % W (B4 © F)
wHy & ~ 210
% 0T 5 & M
woE B B
% & 827,657M [#aWE 7 7 + EIRIf
OB =
& K E & 62,7037V v & — 4 v 7
% KA B F
N M
R RN "
OB &
& H 890,360H
3 & oM
4 wEE RN 12 7 KR 3 B O IR

1)

(B BRI, s HORREREL TS W,



wAE25 (

% 2 RBR)

o0 3 FE/N AR RSB EE iR E

®E R4 K # E E
r B £ N #H 7
. ' BHs BOETEE)
Ngs Eﬁ . HE ‘ aﬁlxﬁaoeﬁ . XA LD RHEH XIhEE ﬁf; j i g?
1 4F4H [B1FAR E!MME (¥ |/ FE DR W B T f 67,602 11/12 61,968F
2 4A20H [EEWE T 7 VHRIR (¥ 2~ 95lE365) 113,300 11/12 103,858
3 | 4H28H|ERT4 v 4 bARSHE NERTEE1-5-2 24,6409 11/12 22,586
4 7THITH [YIFAK HARME () /N R T I B TR R fth 64,678 11/12 59,288M
5 7TH31HE [#aET 7 VAR (A= 3iERE37R) — 147,400 11/12 135,116/
6 8A1H |BRILE P R NI AEF4502 82,500/ 11/12 75,625
7 8HAR | HA 71 v IR 4 bARSHE N 1-5-2 33,110H 11/12 30,350M
8 | 10H26H |UIFMR HABE (5k) /IR I B TR i 55,0421 11/12 50,455
9 | 10H27H [FEWET 7 VEIRIR (%2~ Y5EE385) ﬁ 113,300H 11/12 103,858
10 | 11A6H|FX74 v 7% x4+ EFSH NHETEE1-5-2 34,650 11/12 31,762H
11 | 18158 [WIFR AABE () NHETIEEBER 55,7721 3/4 41,829H
12 | 15170 [@ESHET 7 VHRIR (2 < 9iEE39%) h 113,300F9 3/4 84,9751
13 1H29B [RAR 74 v 7 T4 b AR AWHRHE1-5-2 34,650 3/4 25,987H
827,657M
EM

1/1~=Y




wAE 25 (62 %H8R)

o0 3 FE/NHR RSB R E & IR E

wE KA /N A 1E =
" A 4 x# B fF K &
= BBElE | BGEnE
No.| B WA SO LH XA OB P | oma e
1| emsE|YYvE—4 v W) eov—7a | NEEEA v E—JE 40708 4,0705
2 | 7ALA|7Y v A4y R ) v—s—F% | NEERA v 3,32501] 3,325/
3| sHeE|TVvE—Avone ) v—v—FE [ NERHEA Y 5 5,544 | 5,544F3
4| 8HH|TVvE—4 v W) vov—FF | NEEEA Y& 2,134F9 2,134
5| 9m12A|7YvE—4 vt ) v—v—FF | NEEEA VA5 4,796 4,796F
6 | 108158|7) va—4v ot W) v—v—FF  |NEEEA v 5 2,134f4 2,1349
1 10829 |7V v &2 —4 v 7% ) v—v—FF MRERA v 2 —JE 2,178F§ 2,178H
8 | 12A13H|7Y v2—4 v i ) v—v—FF |NHAEERA Y2 —JE 1,826 1,826/
9 1A9H|7Y v 2 —R%: #R) v—v—7+F [/DEEREAvE-JE leﬁ' 24,200
10| 2H8A|7)va—4 v ) v—v—FF  |EEEA Y E—E 6,600 6,600
11| 2820H|7Vva—4vIR #) v—v—F% |AHERAYEZ—E 5,896/ 5,896/
62,703M
ik

1/1~_=2



